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4- The highest voltage for transmitting in Iraq
a-11 kv
b- 33 kv
c-132 kv
d- 400  
5- types of cores transformers
a- There are two types of cores
b-There are three types of cores
c-There are four types of cores
d-There are one type of cores
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8- efficiency of transformer: 𝜂 =
a-
b-  
c- 
d- 
9- EMF of transformers =
a- 4.44 f m N
b- 44.4 f m N
c- 0.444 f m N
d- 444 f m N
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11. The efficiency of a transformer will be maximum when
(a) copper losses = hysteresis losses

(b) hysteresis losses = eddy current losses

(c) eddy current losses = copper losses

(d) copper losses = iron losses
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15. While conducting short-circuit test on a transformer the following side is short circuited
(a) High voltage side

(b) Low voltage side

(c) Primary side

(d) Secondary side




image9.png
16. In the transformer following winding has got more cross-sectional area
(a) Low voltage winding

(b) High voltage winding

(c) Primary winding

(d) Secondary winding
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17. A transformer transforms
(a) voltage

(b) current

(c) power

(d) frequency
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19. Primary winding of a transformer

(a) is always a low voltage winding

(b) is always a high voltage winding

(c) could either be a low voltage or high voltage winding
(d) none of the above
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20. Which winding in a transformer has more number of turns ?
(a) Low voltage winding

(b) High voltage winding

(c) Primary winding

(d) Secondary winding
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23. A common method of cooling a power transformer is
(a) natural air cooling

(b) air blast cooling

(c) oil cooling

(d) any of the above
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45. The transformer ratings are usually expressed in terms of
(a) volts

(b) amperes

(c) kW

(d) kvA
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48. Material used for construction of transformer core is usually
(a) wood

(b) copper

(c) aluminium

(d) silicon steel
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62. The magnetising current of a transformer is usually small because it has
(a) small air gap

(b) large leakage flux

(c) laminated silicon steel core

(d) fewer rotating parts
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63. Which of the following does not change in an ordinary transformer ?
(a) Frequency

(b) Voltage

(c) Current

(d) Any of the above
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65. The leakage flux in a transformer depends upon
(a) load current

(b) load current and voltage

(c) load current, voltage and frequency

(d) load current, voltage, frequency and power factor
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66. The path of the magnetic flux in transformer should have
(a) high reluctance

(b) low reactance

(c) high resistance

(d) low resistance
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82. An ideal transformer is one which has

(a) no losses and magnetic leakage

(b) interleaved primary and secondary windings

(¢) a common core for its primary and secondary windings
(d) core of stainless steel and winding of pure copper metal
(e) none of the above
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85. An ideal transformer will have maximum efficiency at a load such that
(a) copper loss = iron loss

(b) copper loss < iron loss

(c) copper loss > iron loss

(d) none of the above
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88. Iron loss of a transformer can be measured by
(a) low power factor wattmeter

(b) unity power factor wattmeter

(c) frequency meter

(d) any type of wattmeter
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1. Which of the following does not change in a transformer ?
(a) Current

(b) Voltage

(c) Frequency

(d) All of the above
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2. In a transformer the energy is conveyed from primary to secondary
(a) through cooling coil

(b) through air

(c) by the flux

(d) none of the above
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3. A transformer core is laminated to
(a) reduce hysteresis loss

(b) reduce eddy current losses

(c) reduce copper losses

(d) reduce all above losses
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6. The path of a magnetic flux in a transformer should have
(a) high resistance

(b) high reluctance

(c) low resistance

(d) low reluctance
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7. No-load on a transformer is carried out to determine
(a) copper loss

(b) magnetising current

(c) magnetising current and loss

(d) efficiency of the transformer




